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3000 run 25171 — 2 3000} run 25474 - 2 3000} run 26078 - 2 3000 run 26084 — 2 30001 run 26116 - 2 30001 run 26141 - 2 3000[- run 26145 ] 2 3000} run 26147 ]
— data ] = [ 25474 — data 1 = [ 26078 — data 1 = 26084 — data = 26 1 6 — data ] = [ 26 41 — data 1 = 26 45 — data = 261 47 — data
run 25171 = s | run - | % run - | % run - Y run - Y run - Y run - Y run - |
2000~ X%/nao = 20445.69/ 7636 =268 7| S 2000[~ X%/naor = 21808.01/7636 =286 -| S 2000~ XoNgor = 22977.11/7636 =3.01— = 2000~ X2/ngor = 2073026/ 7636 =2.717| 5 2000~ XoIngor = 2142432/ 7636 =281~ 5 2000~ X%/ngor = 22055.13/7636 =289 | S 2000} X%/naor = 20534.87 / 7637 = 2.69 ] = 2000 L X2/Ngor = 19909.79 / 7637 = 2,61
Norm. =130.038 +0.071 i £ Norm. =133.083+0.072 £ Norm. =133.299 +0.071 £ Norm. =131.024 +0.071 { £ Norm. = 131.602+0.071 i £ Norm. = 132.408 + 0.071 i £ I Norm. =120.511+0.064 ] £ I Norm. = 116.267 +0.063 ]
i Avast = 0.239 £0.000 1 < Avast = 0.238.+0.000 < Avast = 0.236 +0.000 1 < i Avast = 0.237 £0.000 1 < i Avast = 0.237£0.000 1 < i Avast = 0.236 +0.000 1 < Avast = 0.2710.000 1 < Avast = 0.281+0.000
1000 Trast = 31.739£0.073 . 1000 Trast = 33.080£0.073 ] 1000 Trast = 33.393 £ nan ] 1000 Trast = 33.307 £0.075 ] 1000 Trast = 33.532£0.075 ] 1000 Trast = 33.844 £0.043 ] 10001 Trast = 30.652 £ 0.069 1000|- Trast = 30.104 £ 0.069 ]
I Tsiow = - 1. 1 r Tsiow = R 1. 1 I Tslow = 3 EAR 1 B Tslow = 3 1. 1 B Tslow = . 1. 1 B Tsiow = R =1, 1 Tsiow = . =1, Tslow = . 1.
1497.458 +1.432 1 1520.395 + 1.443 1512.478 +1.349 1 1498.178 +1.425 ] 1497.773 +1.420 1 1506.385 + 1.352 1 1369.173+1.375 1347.475 +1.404
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3000 run 26149 ] 2 3000 - run 26152 . 2 3000 - run 26154 ] 2 3000 run 26161 1 2 3000 run 26163 4 2 3000 - run 26165 . Q 3000 run 26167 1 2 200 I run 26254 ]
e s 26152 —g= s 26154 —g= s 26161 —o s 26163 —¢ s 26165 —e= s 26167 —e= s 26254 — o= '
run 26149 —; s run - s run - s run — s run - | % run — s run — | % run —
2000 X2ngor = 20927.91/ 7637 = 2.74 | = 20001~ X2ngor = 22212.55/ 7637 = 2.91-] = 2000 X¥/naor = 22977.06 /7637 =8.01-{ S 2000 X%/Ngor = 22788.27 / 7637 = 2.98 —| = 2000 - X2/Ngor = 23006.75 /7637 = 3.01] = 20001~ X%/Ngor = 2411501/ 7637 = 3.16 —| = 2000 - X2INgqr = 2244750 / 7637 = 2.94 ] = 2000|- X%/Nor = 24015.39 /7637 = 3.14
I Norm. =115.127 + 0.064 ] £ I Norm. = 115.242 + 0.064 ] £ I Norm. = 114.340 +0.063 ] £ I Norm. =113.574 +0.065 1 € i Norm. = 112.591 +0.062 ] £ I Norm. =112.322+0.061 ] £ I Norm. =110.462 +0.061 ] £ I Norm. =113.858 + 0.061 ]
Asast = 0.286 £ 0.000 1 < Asast = 0.286 +0.000 1 < Asast = 0.290 +0.000 ] < Asast = 0.290 £ 0.000 1 < Asast = 0.292 +0.000 1 < Asast = 0.294 £ 0.000 1 < Asast = 0.298 £ 0.000 {1 < Asast = 0.292 £0.000 R
I Trast = 30.193£0.015 ] I Trast = 30.334 £0.013 ] I Trast = 30.266 +0.068 ] I Trast = 30.200£0.017 ] I Trast = 30.001 £0.007 ] I Trast = 29.935 0.068 ] I Trast = 29.706 0.068 ] I Trast = 29.9790.068
Toiow = 1332.438 £ 1.381 Tolow = 1334.217 £1.382 Tolow = 1329.256 £ 1.421 Tolow = 1324.136 £ 1.432 Totow = 1315.102 £ 1.361 Tolow = 1301.581 £ 1.407 Tolow = 1294.999 = 1.422 Toiow = 1298.996 + 1.375
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3000[- run 26265 ] 2 3000 run 26320 ] 2 3000 run 26365 4 2 a0 - run 26381 ] 2 3000 - run 26440 ] 2 3000 - run 26491 ] 2 3000[- run 27947 - & so00f- run 28209 -
— : 26320 —; |5 26365 —; : 26381 —; : 26440 —¢ : 26491 —¢ : 27947 —¢ 15 ] 28209 —: |
run 26265 —; s run - s run - | % run - s run - s run - s | run - | % | run - :
2000}~ X¥/naor = 22891.25/7637=3.00-{ = 2000 X¥/naor = 24781.36 /7637 =824 = 2000~ X¥/naor = 22855.19/7637 =299 = 2000 X¥/naor = 23162.86/7637 =803 Z 2000|- X¥/naor = 22851.73/7637=299-{ = 2000 X¥/naor = 23329.95/7637 =805 = 2000~ X¥/naot = 24720.14 /7652 =323 = 2000~ X%/Naor = 24804.36 / 7649 = 3.24
I Norm. =112.099 + 0.060 ] £ I Norm. =114.028 +0.062 ] £ i Norm. =112.911 +0.061 ] £ I Norm. =112.199+0.061 1 € I Norm. =113.227 +0.061 ] £ I Norm. =113.333+0.062 ] £ Norm. = 96.154+0.054 ] £ Norm. = 94.509+0.053
Avast = 0.295 +0.000 1 < Asast = 0.291 £0.000 ] < Avast = 0.291 +£0.000 1 < Avast = 0.293 +0.000 1 < Avast = 0.291 +£0.000 1 < Asast = 0.291 £0.000 1 < Avast = 0.292 +0.000 < Asast = 0.298 £ 0.000
I Trast = 30.236 £ 0.068 ] I Trast = 30.400 £ 0.068 ] I Trast = 30.164 £ 0.069 ] I Trast = 30.049 £0.009 ] I Trast = 29.991 £0.069 ] I Trast = 30.039 £ 0.069 ] I Trast = 31.173£0.012 1000l Trast = 32.862 £ 0.068
1000 Teiow = 1285.295 £ 1.374 1000 Tolow = 1315.511 £ 1.408 1000 Teow = 1298.7751.383 1000 Tow = 1289.541£1.334 1000 Toiow = 1298.177£1.378 1000 Toiow = 1306.563  1.394 1000 Teiow = 1302.605 £ 1.376 Toiow = 1299.962 = 1.439
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3000 run 28210 . 2 3000 run 28211 . 2 3000}~ run 28212 ] 2 3000|- run 28213 ] 2 3000 run 28215 ] 2 3000} run 28216 . 2 30001 run 28217 - 2 3000 run 28218 -
i — data 1 = i 2821 1 — data 1 = 2821 2 — data 1 = 2821 3 — data = 2821 5 — data = L 2821 6 — data 1 = i 2821 7 — data ] = L 2821 8 — data ]
: run 28210 —=: 15 | run - 15 | run - | % run - | % run - s | run - | % run - T | run - |
2000}~ X¥/naot = 25054.89/7649 =828 = 2000~ X¥/naot = 24901.02/7649 =826 = 2000~ X¥/nast = 25634.88/7650=8.35— = 2000~ X¥/naot = 24218.87 /7650 =817+ = 2000 X¥/naor = 25383.56 /7649 =832 = 2000~ X¥/naot = 22619.97 /7650 =296 —| £ 2000~ X¥/naot = 22867.63/7649 =299 = 2000~ X2/naor = 21617.71 /7650 = 2.83
Norm. = 95.147+0.053 £ Norm. = 94.998+0.053 £ Norm. = 95.356+ 0.052 ] £ Norm. = 96.478+0.053 ] £ [ Norm. = 98.009 +0.053 ] £ Norm. = 95.824 +0.053 £ Norm. = 96.972+ 0.054 £ Norm. = 99.589+ 0.055
Asast = 0.293 £0.000 < Asast = 0.295 £ 0.000 < Asast = 0.292 £0.000 < Asast = 0.292 £0.000 < Aast = 0.291 £0.000 1 < Asast = 0.288 £0.000 < Avast = 0.284 +0.000 1 < Asast = 0.277 £0.000
1000 Trast = 32.346 £0.071 1000l Trast = 32.303 £ nan 1000l Trast = 29.218 £0.008 10001 Trast = 30.552 £ 0.006 1000 Trast = 32.731£0.070 ] 1000 Trast = 30.584 £0.070 1000 Trast = 33.554 £0.081 ] 1000 Trast = 31.604 £0.071
3 Toow = 1302.572£1.428 Tlow = 1317.551£1.372 Teiow = 1286.152.+1.331 Toiow = 1315.275 £ 1.355 Toow = 1320.378 £ 1.412 + Toow = 1311.757 £1.414 3 Teiow = 1327.222 £ 1.461 1 3 Teiow = 1360.705 £ 1.426
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3000}~ run 28219 - 2 3000}~ run 29180 B 2 3000 run 27393 ] 2 3000}~ run 27508 ] 2 3000}~ run 27980 ] 2 3000~ run 28046 . 2 3000~ run 28106 ] 2 3000~ run 28518 ]
e | % 29180 —¢ F 27393 —¢- |5 | 27508 —g | 27980 — |5 | 28046 —y 15 | 28106 —¢ 15 | 28518 —u= |
run 28219 —: run — T | run — |5 | run — 15 | run — |5 | run — 15 | run — 15 | run — |
2000~ X2/Ngor = 22880.13/7649 =299 | = 2000~ X%/naot = 21899.95/7649=2.86 | = 2000~ X¥/naor = 34492.07 /7646 =451 = 2000~ X¥naot = 18117.95/7658=2.37 ] = 2000 X¥/nast = 27659.02/ 7650 =8.62— = 2000~ X¥/naot = 25791.58 /7650 =837 - £ 2000~ X¥/naot = 25725.74/7649=836— = 2000~ X2/Naor = 25725.74 /7649 = 3.36
Norm. = 105.113+0.057 ] £ Norm. =91.125+0.050 ] £ Norm. = 109.864 + 0.060 ] £ H Norm. = 119.006 + 0.065 4 £ Norm. = 96.031+0.054 ] £ Norm. = 95.328+0.053 £ Norm. = 94.938+0.053 £ Norm. = 94.938+0.053
I Avast = 0.258 +0.000 1 < I Asast = 0.299 £ 0.000 1 < Asast = 0.304 £0.000 < I Aast = 0.261 £0.000 1 < Asast = 0.292 £0.000 < Asast = 0.292 £0.000 < Asast = 0.296 0.000 < Asast = 0.296 0.000
1000 Trast = 35.964 £0.076 ] 1000 Trast = 29.878 £0.009 ] 10001 Trast = 36.957 £ nan 1000~ Trast = 36.404 £0.078 . 10001 Trast = 30.999 £ 0.069 1000l Trast = 30.530£0.010 ] 1000l Trast = 32.605 0.070 1000l Trast = 32.605 0.070
3 Tolow = 1409.648 £ 1.416 ] r Toiow = 1254.765£1.317 1 Tolow = 1304.654 £ 1.358 Toiow = 1387.794 £ 1.396 ] Tlow = 1317.557 £ 1.446 3 Toow = 1304.372£1.383 1 3 Tolow = 1295.446 £ 1.424 3 Tolow = 1295.446 £ 1.424
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000l run 28577 4 é 3000l run 28681 A é 3000 run 28803 4 é 3000 run 28895 1 § 3000[- run 29032 4 é 000l run 29110 4 é 3000 run 29199 - é 3000 run 29229 .
| — | 5 28681 —: : 28803 —: 157 28895 —: 15 29032 —: | 5 29110 —& 151 29199 —: | 5 29229 —: |
: run 28577 =; | % run - | % | run - 1% | run - | % run - 1% | run - | % | run - | % run - |
2000}~ X¥/naot = 24695.79/7649 =823 = 2000~ X¥/naor = 25498.88 /7649 =333 - = 2000~ X¥/naot = 24894.27 /7649 =825 = 2000~ X¥/naot = 24163.02/7649=8.16— = 2000[~ X¥/naot = 23396.73/7649=8.06 | £ 2000~ X¥/naot = 24333.92/7649=8.18— = 2000~ Xonao = 47087.76 / 7646 = 6.16 | 5 20001 X%/nor = 18663.21 /7649 = 2.44
Norm. = 93.755+0.052 £ Norm. = 95.585+0.052 ] £ Norm. = 94.120+0.051 £ Norm. =93.123+0.051 £ Norm. = 93.284 +0.052 £ Norm. = 93.726 +0.051 ] £ Norm. =90.803+ 0.049 1 £ = Norm. =93.220+ 0.053 g
Avast = 0.298 +0.000 < Avast = 0.295 +0.000 < Asast = 0.295 £ 0.000 < Asast = 0.298 £ 0.000 < Asast = 0.296 0.000 < Asast = 0.299 £ 0.000 < Asast = 0.290 £ 0.000 < I Asast = 0.290 £ 0.000 ]
1000l Trast = 31.513£0.071 10001 Trast = 30.681 £ 0.069 ] 1000 Trast = 30.105 £ 0.069 1000 Trast = 30.167 £0.069 1000 Trast = 30.550 £ 0.069 ] 1000l Trast = 31.227£0.014 1000}~ Trast = 34.991 £0.081 . 1000 Trast = 30.439 £0.008 ]
3 Teiow = 1288.530 = 1.431 Teiow = 1289.263 £ 1.393 1 3 Tlow = 1268.713+1.374 3 Toiow = 1265.581 £ 1.389 3 Toiow = 1286.675 £ 1.422 1 Toow = 1273.915 £ 1.321 Tlow = 1180.106 £ 1.316 3 Toiow = 1328.528  1.421 1
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